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And he carried it out with his mouth, he is liable - 29977 992 INXIYM

Overview

The (cited) nawn mentions that if a X»v ate 277 which was 0, etc. he is 21 many
mxwr for this eating. »"7 added that if he carried it out to a 7"777 in his mouth (while
eating it), he is 217 additionally for 7X¥17. Our N2OIN resolves a potential difficulty:

mooIn explains a potential difficulty:!
- 27903 59 5 AN AN NI INIYAT NN NP 2710 ¥113 10915

All the nXvn 210, including the 7AXX¥ 211, occur simultaneously, for his

swallowing is considered a 7117277 even though he is still walking -
- 311N37 XON 1T NN (9 97 995) )IIINT

As X271 ruled previously; their writing that is their 77 —

moo1n responds to an additional difficulty:*
- ©%390 MY 2N XIN DV 5749 209 19N /9 NHYNRY 1997 2) DY 9N)

And even though that his mouth is higher than 2°15v ' from the ground and is

not a place of 7"v7, nevertheless it is %3 to the 7' and his mouth is considered a opn
7"97 in the "7 -
- 8951 NP 0D DYPNAT (3,1 97995 1PPID YA HINT 70093 SINIDIAY 2137 NY)

And the mouth is not comparable to the throwing of a 98%212 by the curtains,

!'See w"x777 "o who writes; NRITA 217 NMRLA IRWAT 777 2772 10X RDT NIRVA IRW DER [Ax¥] (Hb’DN) IV an "9 RN
Y7 TIN2 AR 1°Y2 2w 3. The assumption is that to be 21 for nX¥17 while eating, the 211 is only when [it finally
comes to rest in his intestines] (and when he stops walking), not before, however the nmon, which the 7wn is
discussing for eating, that 211 is when one swallows it, when he has 11172 nX317. How can n"9 include nX¥17 210 (which
occurs later), with the 79°R »2vn.
2 moon is teaching us two rules; first that the 7ma7 is by the Av*%2 (in his throat like the 79°3% Mo°X), and not when it
later reaches 1", and second that it is a 717 even though he is walking, as Moo proves from 712°n2.
3 X217 ruled that if one carries out sufficient ink to write two letters and he wrote the letters while he was walking, he
is 211 (because he made an 771°p¥ when carrying out the ink and) he made a 77 by writing it on the parchment. We
derive that even though the person is writing while he is walking, nevertheless it is considered a 7ir17, as > states
there (X17w> 7"7) that X177 2057 ¥ 7 nna v, Similarly here the amin 99y of food is that he eats it, notwithstanding
that he is still walking (or it is not yet 1¥»n2). Therefore it is considered a 2"712 Anan.
4 The difficulty may be that even though opn 7% ®™wn Inawnn (as the X3 states), but since he is "» 79ynY it should
be considered as if his mouth is in a 75 23P» where one is MWD if the 7117 was in a MWD DIPA.
5 The X"w"mn explains that in order to be a 1"77 we require a 7 27,
6 A Ax°512 is the wound up roll of thread that is used to make the 27 (the horizontal threads) in the weaving process.
7 The X113 was attempting to find 7"7772 X" P11 in the 19wn. The suggestion was that they would throw the X"7 78212
1"7172 while making the curtains.
8 The x3 rejected this suggestion because the X212 was thrown (and landed) in a Mwd o1pn for it was not wide "7
(see ""w there XM 71"7). The question is that just like by the 2X°212 it is considered a 7wd 2Ip» since it is not a '7 2P~
similarly here by the mouth it should also be considered a 1o oypn for it is not 7"v7 (and he is "“»n 72917).

1

TosfosInEnglish.com



XX A7 '0N R, 2P 2w L7023

where the X713 stated in the beginning of our P99 ‘that the IX°>12 is traveling in
a LD 2PN —

mooin replies that the mouth is not similar to the X212 -
— 9590 M MY’ DIPN ONNYT

For there by the IX°212 it is more of a permanent place, however here the mouth is not

considered as being that permanent in the 7"777, as by the %212 -
= 05290 MY MHN 90 NVNDT (x,n 97 RNDP P92 MMNRT 109PO90D 1N

And this case of 192 W% is similar to the case of »poaw regarding which the X3
states in the first P25 that when the 2070 is below o nov ' from the ground it is

considered a 2'"';m -
= £%190 MY 22X YA 79 NYYNIY 199N NI

And here by 19, even if his mouth is 2°rov " 7op»Y it is still Pwa to the 279 -
102290 MY NN YN HNHVNIDI 1) NV aynT N

And additionally since carrying "» mbynb is like carrying '» munh so it is
considered 2'"';772 .

Summary
The 7M1 of food in the mouth is when swallowing even while walking. A person

(especially when carrying) is 1"77% 202 even " 799n5.

Thinking it over
What is the difference between the last two answers of n190I1n?

PR35 TV 107
We will return to you
ranhita Bvilo)

% Presumably they were weaving the my™ in a specific place for a duration of time. Therefore that place where the
IR°212 was being thrown and landing was not 702 to the 1"77 and was considered (a separate NWw1) a v DPH, since
it was not '7 am0, however there is no N1¥°ap for a person walking in the street, therefore his mouth is 502 to the 2"77,
and since he wants the food in his mouth we can say opn % ®R1wn 1nawnns and it is considered a '7 0pn (because of
\nawnn) in the 1"77 (because it is P01 to the 7"737 since there is no NMy°ap).
10 A 5po"v is a basket (which is 7"v7). The X7n3 there initially interpreted the 71wn that the »1v was holding a po v and
the 2"7v2 made the 7m37 into the 9707w and it is considered as if he made the 2"7172 m37, even though the 5pov is 7"v7
and should perhaps be considered a n°2113, nevertheless we say that 2°932 1°9173 X and it is 7"717 P02, Similarly here
too his mouth is 1"77% P03, even though it is " 7%¥nY, just like the P07 is P02 even though it should be a n*on7>.
1 See &,1% 97y, and >"wA there X°X17 7"7 who writes. 1312 X7 WaRp [7IW¥] YIRT 72 7123 1903 9 1K) 17°2 7R3 1702y
X7 RPN 1903 9¥ and "W concludes 77917 PR RAPR IR P 3IWYR A2¥RY P02 MaR T pAa (P A7 19P%) 1ANT 8
19WNA NAR 2121 P97 270 avn 2aR P RPNT 0°277 M awen. [Therefore we cannot compare X012 which is by
throwing, to 10 which is by carrying, where we say that "» 75912 is like "»n on?.]

2

TosfosInEnglish.com



